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BACHELOR’S DEGREE PROGRAMME

Term-End Examination

December, 2010
ELECTIVE COURSE : COMMERCE
’ ECO-4 : ACCOUNTANCY-II
Time : 3 hours Maximum Marks : 100
(Weightage : 70%)
Note : Attempt any four questions from Section-A including

question No. 1 which is compulsory and both the
questions from Section-B.

SECTION - A

01535

1. Attempt any three questions from the following:

(a) Describe the advantages of Departmental

Accounts. 5x3=15

(b) Explain the provisions relating to discount
on issue of shares.

(c) What are current and non-current items in
the balance sheet of a company Give
examples of each.

(d) Explain the objectives of keeping branch
accounts.

(¢) Distinguish between consignment and joint
venture.
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2. (a) Define Hire - Purchase System. State its
Differentiate between

characteristics.
Hire-Purchase System and Instalment

Payment System.
(b) State the basic steps involved in the

formation of a company.

10,10

3. A and B shared profits in the ratio of 3:2. Their 20
Balance sheet as on 31.12.2008 was as follow:
Liabilities Rs. Assets Rs.

Creditors 20,000|Cash at Bank 8,000

Loan from A 16,000|Stock 54,800
General Reserve 25,000{Debtors 40000

Capitals : Less : Provision 1800 | 38,200

A 1,20,000 Machinery 40,000

B 80,000 2,00,000|Investments 20,000

Building 1,00,000

2,61,000 261,000

Partners decided to dissolve the firm on the above
date. Assets realized as follow:

Stock Rs. 45,000; machinery 20% Less than book
value Debtors Rs. 35,000, Building Rs. 30,000 more
than the book value. A took over the investments
at an agreed value of Rs. 15,000

Creditors agreed to accept 5% less. Expenses of
realization amounted to Rs. 1200. There was a
typewriter in the firm which was not shown in
the books of the firm. It is now sold for Rs. 5,000.
Prepare necessary accounts.
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4. Calculate the following ratios with the help of the
information given below : 4x5=20
Q] (a) Operating Ratio
E (b) Gross Profit Ratio
& (9 Quick Ratio

(d) Stock Turnover Ratio
(e) Working Capital Turnover Ratio

Information : Sales Rs 200,000; Opening stock
Rs. 12,000; Closihg stock Rs. 18,000; Purchases
Rs. 1,20,000; Wages Rs. 8,000; Operating Expenses
Rs. 2000, Other Current Assets Rs. 50,000 and
Current Liabilities Rs. 30,000.

5.  State giving reasons as to which of the following
shall result in (i) inflow of funds, (ii) outflow of
funds, (iii) neither inflow nor outflow of funds.
(@) Goods purchased for cash 2.5x8=20
(b) Payment made to creditors
(c) Shares issued for cash
" (d) Repaid long term bank loan
() Sold furniture for cash
(f) Received cash from debtors
(g) Sale of goods on credit

(h) -~ A short term loan from a bank
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6. On 1.1.2008 A Ltd. purchased a machinery from 20
B Ltd. on hire-purchase system. The cash price of
the machinery was Rs. 34000. The payment was
to be made Rs 10,000 on signing of the agreement
and the balance in three equal instalments of
Rs. 10,000 each at the end of each year. B Ltd.
charges interest at the rate of 12% p.a. A Ltd. writes
off 10% p.a. as depreciation on the reducing bal-
ance method. A Ltd. could not pay the instalment
due on 31.12.2009 and the vendor took -posses-
sion of the machinery. Prepare necessary accounts
in the books of A Ltd.
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SECTION - B
7.  State the qualities of an Auditor : 10
OR
What is Auditing ? Explain its advantages.

8. How would you verify the following ? 15
- (a) Good will
(b) Plant and Machinery
OR
Define Vouching. State its objectives and
importance.
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